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D The oxidation number 1Skl sac* part 2+
In which of the following formulas does the oxidation i a8 aae (6 300N ol o
number of oxygen differ than in the other formulas? Yieall 1 Ja e

NO - NO, - H,0 - H,O,

O NO
O NO,
O H,0,

b O H-0
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D The oxidation number 1Skl sac* part 2+
In which of the following formulas does the oxidation i a8 aae (6 300N ol o
number of oxygen differ than in the other formulas? Yieall 1 Ja e

NO - NO, - H,0 - H,O,

O NO
O NO,
O H,0,

b O H-0
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D If given the following two redox half-reactions. Y 2l ga La L clal Al sV Jelm ias -'_h:j 13
i —
What is the minimum numbers of Pb>" and Fe?” would  folig p€l 5w L&) Jelah o€y = Fed™ ciliyly Ph? cdsy

have to react in crder to have zero electrons lefi over?

1SN Jolk heas

Oxidation Half-Reaction

Pb? — > Pb'* + 2¢”

Jral Jelb il

2+
Fe +3e ——» Fe
3 Reduction Ha¥-Reaction

Fe?* Ph?*
2 3 A
3 2 B
2 1 c
1
1 i D
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Which of the following is not a conjugate acid- base pair?

HCIO, /Cl0y

HSO; /502"

H,0* /OH-

H,0/0H~

A-2023-2022 il i)l dlgi jLisl - el - padzall jluell - e il (il

A conjugate acid -base §icld o> zgj*part 1%

€3 52008 e ) gl L Laa
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Acids properties jslesl| yolgs*part 1%

Which of the following chemical equations represents a reaction . )
sl Jebadd) o ol Lid 400 4] S ) g

between the aqueous solution of an acid and metal hydrogen

T A pragl AN SidgnSy (faand

carbonate?

NHHCD;(,} + I’ICzH;Oz{aq} =¥ NaCZHJUZ{aq} + H:D[l) + CDI{S]

Zn(yy + 2HC gy = ZnClzaq) + Haggy

(ag)

O O O O

CaCU;Eﬂ + ZHC[{M) - CaC]z[am + H20[1) + CDz[g)
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)
1 74.30 ML a3 13 HySO; Jglan ZiYse L
What is the molarity of H,SO, solution v o s dgiae Syle
' 45.78 ML isted NaOH Jyiaa 0.4388 M
if 74.30 mL of 0.4388 M NaOH solution is needed Caanll Jyla

to neutralize 45.78 mL of the acid solution?

H,504(aq) + 2NaOH oq) = Na,80,0q) + 2H; 0y,

D 0.3561 M
) 0.1568 M
O 0.4211 M
B O 0.2320 M
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- In the reaction represented by the equation below. bl At atid s Jetinh 4
D Which of the following is correct? ¢ xanea q:if Lea g
2F @) t lapa) —— Faq) + 2l
0O The fluoride ions receive electrons from the iodine IR Lh Sty 3l e iy 2SN i) il it
and it is reduced
o The fluoride ions receive electrons from the iodine 081 1) Bitaty apl e iy Y il i L
and it is oxidized
O The iodine receives electrons from the flucride BenSl al tirazy gl cilipd e lig A€ apal L
ions and il is oxidized
D The iodine receives eleclrons from the fluoride JUEY al uray gl gl e iy SN 3l i
v ions and it is reduced

L e , 5
) {
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3 Caleulation of Ka wilu> *part 3*
What is the value of K; of 0.0400 M solution of acid HCIO, 0.0400 M 2,85 HCIO; yimes Jelad K, dui L
with pH=1.807 ¢pH=1.80

O 1.0x 1072

O 2.6x 107

O 4.9x10°°

O 5.8x 1073
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y Whal is the cormect ascending arder according to fad ea maaall srelanl Canplt L
D the pH value for each of the following solutions? PN Lia N - KIpH
A 3l L g Sl yuan [EETOURIVN sl
Household ammonia Lemon juice Milk of magnesia Milk
pOH=2.10 pH=2.37 [OH"]=3.2x 10~* [H*]=3.2x 1077

Household ammonia — lemon juice — milk — milk of magnesia

L) e ala o= Gl me o Al s

Milk of magnesia — milk — lemon juice — household ammeonia bl Ligal) e Cpadd s Ll l e Lned

Lemon juice — milk — milk of magnesia — household ammonia 2l L g — Laaaiieal izl € ada] ¢ el _

O g0

Milk — household ammeonia — lemon juice — milkof magnesia . n i, o+ - M prm 4 B3] Ligal! = dal
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